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( e0 (λx.e2 ( ( e0 (x :a0)
: e1 a0

→ a0)
@ e1 (x :a0)))

: e1 (e2 a0 → e2 a0)
→ a0)

@ e1 (λy.e2 (y :a0))

( e0 (λx.e2 ( ( e0 (x :a0)
: e1 a0 → a0)

@ e1 (x :a0)))
: e1 (e2 a0 → e2 a0) → a0)

@ e1 (λy.e2 (y :a0))

( e0 (λx.e2 ((e0 (x :a0) : e1 a0 → a0) @ e1 (x :a0)))
: e1 (e2 a0 → e2 a0) → a0)

@ e1 (λy.e2 (y :a0))

( e0 (λx.e2 ((e0 (x :a0) : e1 a0 → a0) @ e1 (x :a0)))
: e1 (e2 a0 → e2 a0) → a0)

@ e1 (λy.e2 (y :a0))

(e0 (λx.e2 ((e0 (x :a0) : e1 a0 → a0) @ e1 (x :a0))) : e1 (e2 a0 → e2 a0) → a0)
@ e1 (λy.e2 (y :a0))
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( e0 (λx. e2 ( ( e0 ( ( e0 (z : a)
: e1 a

→ a)
@ e1 ( ( e0 (x : a)

: e1 ( e2 e2 e0 a

→ e2 ( e2 e1 a

→ e2 a))
→ a)

@ e1 (λf. e2 (λu. e2 ( ( e0 (f : a)
: e1 a

→ a)
@ e1 (u : a))))))

: e1 a

→ a)
@ e1 ( ( e0 (x : a)

: e1 ( e2 e2 e1 a

→ e2 ( e2 e0 a

→ e2 a))
→ a)

@ e1 (λv. e2 (λg. e2 ( ( e0 (g : a)
: e1 a

→ a)
@ e1 (v : a)))))))

: e1 ( e2 e0 e0 a

∩ ( e2 e0 e1 a

∩ e2 e1 a)
→ e2 a)

→ a)
@ e1 (λy. e2 ( ( e0 ( ( e0 (y : a)

: e1 a

→ a)
@ e1 (y : a))

: e1 a

→ a)
@ e1 (y : a)))
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( e0 (λx. e2 ( ( e0 ( ( e0 (z : a)
: e1 a

→ a)
@ e1 ( ( e0 (x : a)

: e1 ( e2 e2 e0 a

→ e2 ( e2 e1 a

→ e2 a))
→ a)

@ e1 (λf. e2 (λu. e2 ( ( e0 (f : a)
: e1 a

→ a)
@ e1 (u : a))))))

: e1 a → a)
@ e1 ( ( e0 (x : a)

: e1 ( e2 e2 e1 a

→ e2 ( e2 e0 a

→ e2 a))
→ a)

@ e1 (λv. e2 (λg. e2 ( ( e0 (g : a)
: e1 a

→ a)
@ e1 (v : a)))))))

: e1 ( e2 e0 e0 a

∩ ( e2 e0 e1 a

∩ e2 e1 a)
→ e2 a)

→ a)
@ e1 (λy. e2 ( ( e0 ( ( e0 (y : a)

: e1 a

→ a)
@ e1 (y : a))

: e1 a → a)
@ e1 (y : a)))

( e0 (λx. e2 ( ( e0 ( (e0 (z : a) : e1 a → a)
@ e1 ( ( e0 (x : a)

: e1 (e2 e2 e0 a → e2 (e2 e1 a → e2 a)) → a)
@ e1 (λf. e2 (λu. e2 ( (e0 (f : a) : e1 a → a)

@ e1 (u : a))))))
: e1 a → a)

@ e1 ( (e0 (x : a) : e1 (e2 e2 e1 a → e2 (e2 e0 a → e2 a)) → a)
@ e1 (λv. e2 (λg. e2 ( (e0 (g : a) : e1 a → a)

@ e1 (v : a)))))))
: e1 (e2 e0 e0 a ∩ (e2 e0 e1 a ∩ e2 e1 a) → e2 a) → a)

@ e1 (λy. e2 ((e0 ((e0 (y : a) : e1 a → a) @ e1 (y : a)) : e1 a → a) @ e1 (y : a)))
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[malloc {x(0), x′(0)}; y.0 := [z.0 := !x.0]; malloc {w(0)}; {x.0 := 5}; jmp !y.0]

[malloc {x(0),
x′(0)};

y.0 := [z.0 := !x.0
malloc {w(0)
{x.0 := 5
jmp !y.0

[malloc {x(0),
x′(0)};

y.0 := [z.0 := !x.0
malloc {w(0)};
{x.0 := 5};
jmp !y.0

[malloc {x(0),x′(0)};
y.0 := [z.0 := !x.0]; malloc {w(0)};
{x.0 := 5}; jmp !y.0

[malloc {x(0),x′(0)}; y.0 := [z.0 := !x.0];
malloc {w(0)}; {x.0 := 5}; jmp !y.0

[malloc {x(0),x′(0)}; y.0 := [z.0 := !x.0]; malloc {w(0)}; {x.0 := 5}; jmp !y.0]

[malloc {x(0),x′(0)}; y.0 := [z.0 := !x.0]; malloc {w(0)}; {x.0 := 5}; jmp !y.0]

[malloc {x(0),x′(0)}; y.0 := [z.0 := !x.0]; malloc {w(0)}; {x.0 := 5}; jmp !y.0]

(let y = V in let x = V in if y = 0 then E0 else . . . if y = n then En else wrong)

(let y = V

in let x = V

in if y

= 0
then E0

else . . .

if y

= n

then En

else wrong)

(let y = V

in let x = V

in if y = 0
then E0

else . . .

if y = n

then En

else wrong)
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(let y = V

in let x = V

in if y = 0 then E0

else . . .

if y = n then En else wrong)

(let y = V

in let x = V

in if y = 0 then E0 else . . .if y = n then En else wrong)

(let y = V in let x = V in if y = 0 then E0 else . . .if y = n then En else wrong)

(let y = V in let x = V in if y = 0 then E0 else . . .if y = n then En else wrong)

(let y = V in let x = V in if y = 0 then E0 else . . .if y = n then En else wrong)
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